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paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
candidates will read the question paper only and will not write any answer
on the answer-book during this period.

ACCOUNTANCY

freriRa aug : 8 gve RT3 : 80
Time allowed : 3 hours Maximum Marks : 80

67/4/1/21/QSS4R  [PRPIN Page 1 of 32 P.T.O.




= A
TraferReaa fget vt sga araurt @ afew 3R 37T O & e HifT ;
(1) SHF7-97734 597 & | Gt 597 AT & |
(2) T8 J¥7-97 G YT 7 G515 & : 5T - & T - &
(3)  SPT- & T TareR & Io7e SR & |
(4) 9T - @ 7 § 3%y 8 37%iq — (1) fachar faaron &1 favaryer aor (I1) 3ifvesicr
GIHT | GO 1 YT — @ T T4 1997 & 3FaR dacT U & [dbe7 & Fo71
& I forad & |
(5) Yo7GEgr]1 @16 7927 G 30 Tk 3b ST 5 |
(6) FPTGEIT17 G20 7% 797 31 U9 32 T I FHR & F¥7 8 | Y% Fo7 di4 b1
#E
(7)  FeTEEI21, 22 7947 33 3 FT0T HR-1 3 I97 & | I9% J97 TR HH FT 8 |
(8)  FeTGEIT23 @26 7T 34 el 3707 FHR-1 % F97 & | I o7 &: b1 T3 |

(9)  F¥7-97 § GH7 faecy 787 133 7T 8 | TEIf, e 37 & 7 J9H) A, i 3b] & 2 gl
7GR 37%] & 1 J97 7 a1 8: 3ebl & 2 o1 7 3R [9hcq &1 597 1397 T & |

67/4/1/21/QSS4R Page 2 of 32




General Instructions :

Read the following instructions carefully and strictly follow them :

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8

9)

This question paper contains 34 questions. All questions are

compulsory.

This question paper is divided into two Parts : Part — A and Part — B.

Part - A is compulsory for all candidates.

Part — B has two options i.e. (I) Analysis of Financial Statements and
(1) Computerised Accounting. Candidates must attempt only one of the
given options as per the subject opted in Part — B.

Question numbers 1 to 16 and 27 to 30 carry 1 mark each.

Question numbers 17 to 20, 31 and 32 are short answer type questions.

Each carries 3 marks.

Question numbers 21, 22 and 33 are long answer type-I questions. Each

carries 4 marks.

Question numbers 23 to 26 and 34 are long answer type-II questions.
Each carries 6 marks.
There 1s no overall choice. However, an internal choice has been

provided in 7 questions of one mark, 2 questions of three marks,

1 question of four marks and 2 questions of six marks.
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(@TRerd WA qT HRRET o o i)

1. hIal, WM auT 991 s %H o |13ieR 9 | 9 3 %H % 10% a1i¥es e & T 1,00,000
SR 3R T T | HH T I@TITeT 0T TR 6% STk et § IS o o feTu SR @ 2 | fem
o] forl X 8 RhoT W =T fer Smam 2
(A) 6% e (B) 10% di¥eh
(C) 8% dafieh (D) SROT YT <hIS ATl T&! T S |

2. T[T AT YT Ueh B o HISIER 8 T 4:1 % HAATd H o1 sied & | I ol § 1/4 9
= foru sfifer =l ush Fom AISER s, T 38 uia: e & e R | e, st qen
fifer <1 7T T forTeH ST B
A 2:1:1 B) 11:4:5
(C) 3:3:2 (D) 7:5:4

3. afee, forom qen oy v wH o |TEigR 9 a2 ey -1 SUsR-seR died 9 | 1 J[eTTs,
2023 1 AT 61 g B 7S | IV FIEICRI 4 FH 1 GG 6] T@H 1 Hu fora
T o= | o1} T 4:3 o UG H die 1 Fi form | oo qen fmw w1 srfeemy
AT 81
(A) 4:3 (B) 3:2
(C) 5:2 D) 11

4. (a) Tovma fafirs 3 T 10 T % 6,000 FHAT 3190 /=R BT 10% Hiftrem w feifa
T o ToTe 31ree 3t fepe | ey quf w0 @ stftrem &1 | wf svwr/9=w afen
ST T T TR & o ot
JATEE W — T 3, 3MMeied W — T 3 (fifeaw gfed), vom Im==r © — T 3 9 A=y
AT T — T 2 | 200 3971 /3 o Teh Geh ST o STTee o G1 & TYoi Ui
ST A L AT | TS T AT et T off

(A) % 18,000 (B) % 19,000
(C) % 25,000 (D) % 21,000
GEC))

(b) W ffies 3 T 10 Y= & 5,000 THaT /I *1, ™= 10% Hfm w
Ferifera femam o e, 3 2 wfa 3iwr/3RR 6t i< Jr=ET 1 P T8 e W g
(Forfeit) & foram | g =g7am TR g w57 37l /3= o1 g wea g9: frifia

Topa T Hehar 7, B
(A) 5,000 (B) 10,000
(C) % 12,000 (D) % 50,000
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PART -A
(Accounting for Partnership Firms and Companies)

1. Kanha, Resham and Nisha were partners in a firm. Nisha had given a
loan of ¥ 1,00,000 to the firm @ 10% p.a. The accountant of the firm is
emphasizing that interest on loan will be paid @ 6% p.a. At what rate the
interest on loan will be paid to Nisha ?

(A) 6%p.a. B) 10% p.a.
(C) 8%p.a. (D) No interest on loan will be paid. 1

2.  Gupta and Sharma are partners in a firm sharing profit in the ratio of 4:1.
They admitted Preeti as a new partner for 1/4th share in the profits, which
she acquired wholly from Gupta. New profit sharing ratio of Gupta,
Sharma and Preeti will be :
A 2:1:1 B) 11:4:5
(C) 3:3:2 (D) 7:5:4 1

3. Aditya, Vishesh and Nimesh were partners in a firm sharing profits and
losses equally. Aditya died on 1st July, 2023. Remaining partners decided
to continue the business of the firm and decided to share future profits in
the ratio of 4:3. The gaining ratio of Vishesh and Nimesh will be :
A 4:3 B) 3:2
(C) 5:2 D) 1:1 1

4. (a) Vishant Ltd. invited applications for issuing 6,000 equity shares of

¥ 10 each at 10% premium. The issue was fully subscribed. The
amount per share was payable as follows :
On application - % 3, on allotment - ¥ 3 (including premium), on first
call - % 3 and on final call - ¥ 2. Ashish the holder of 200 shares paid
the entire money along with allotment. The total amount received on
allotment was :

(A) % 18,000 (B) % 19,000
(C) % 25,000 (D) % 21,000 1
OR

(b) M Ltd. forfeited 5,000 equity shares of ¥ 10 each issued at a premium
of 10% for non-payment of final call of ¥ 2 per share. The minimum
amount at which these shares can be reissued as fully paid up will

be :
(A) 5,000 (B) 10,000
(C) %12,000 (D) 50,000 1
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5. TR (A) : T gl foft 3 s, AT 3 ol W wle e I g |

SR (R) : T IS fafer & srafa, @t wel 9 oy =1 &1f <1 v, O W =,
JTETT, ITEWT T AT, 1 OGN Ueh STl WA H Foha ST 8 S TTEIERT o 9o
T HEd & |

FrafaRaa @ 9 w2 foepea =1 === Sifv

(A) ATHE (A) TATHRT (R) SHT &l & 7UT HRT (R), 3 (A) i T8l 2@ 2 |

(B) 3ANRYA (A) 71 HR (R) GHI T&T 7, WAfehd R (R), 3R (A) I T2
T TE 2 |

(C) f¥eher (A) T &, ifehd HRUT (R) TTeid & |

(D) e (A) TToTd B, ik 61l (R) 981 2 |

6. (a) AT AYUT AT TS W hi AT off G 3:2 & FATA H & IUT B Siea off |
IFhI GSft SFAT: % 5,00,000 AT X 1,00,000 &t | 5= 8% a1feh & § Yol W
= st AR off qem A= T 5,000 Ui WE Sl €U | o i Jferepr off |
foreht oft TTIeH & 9@ 31§ @Y % 1,75,000 o1 | fawiiord fop ST atet @ # 5=

T AT BN
(A) % 45,000 (B) % 30,000
(C) 37,500 (D) % 40,000

T

(b) iR T fira U W % TTHER & | 3R T 20,000 TR S T JTf=RRT oT;
Safes frar € 50,000 aTfes AT 1 JTfRrT AT | 3TepR 3R ¥ 1 daq g
FH & 91¢ 31 HE, 2023 I THT & Tt a9 H1 g ¥ T 5,60,000 AT |
ik 3 oft @t & ST 6T ST ATeft Fet T B -
(A) % 2,45,000 (B) % 2,65,000
(C) % 3,15,000 (D) % 3,00,000

7. AN (A) : ITEH FOIHAT W S 1 YA 30 e bl FohT ST 8 S 39 THR

SROTIET H HeT™ SATeT HUH sl Td LA & |

SR (R) : 918 RO I Y&t o gRT gL fohdT ST Tehal & R HEol TH
SRUTIST ETehi <1 oh13 1LehiS &l Tl 2 |

Fr=feRaa o o9&l foehe o1 === il

(A) ATHE (A) TATHR (R) THT Tl & 3T HR (R), 3 (A) i Tdl SRS 2 |

(B) 3ANRYA (A) 71 HR (R) GHI T&T 7, oifehd R (R), 3R (A) I T2
AT TR 8 |

(C) fehe (A) T &, ifehd SR (R) TTeid & |

(D) R (A) TToTd 2, ik 61l (R) 981 2 |
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5. Assertion (A) : Under the fixed capital method, partners’ capital
accounts always show a credit balance.

Reason (R) : Under the fixed capital method, all items like share of profit
or loss, interest on capital, drawings, interest on drawings are
recorded in a separate account called partners’ current account.

Choose the correct alternative from the following :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.

(D) Assertion (A) is incorrect, but Reason (R) is correct. 1

6. (a) Vanya and Aanya were partners in a firm sharing profit and losses
in the ratio of 3:2. Their capital were T 5,00,000 and ¥ 1,00,000
respectively. Vanya was entitled to interest on capital @ 8% p.a. and
Aanya was entitled to salary @ ¥ 5,000 per month. The net profit
before any appropriation was % 1,75,000. Vanya’s share in divisible

profit will be :
(A) % 45,000 (B) % 30,000
(C) % 37,500 (D) % 40,000 1

OR

(b) Omkar and Shiva were partners in a firm. Omkar was entitled to a
salary of ¥ 20,000 p.a. while Shiva was entitled to a salary of
% 50,000 p.a. Net profit for the year ended 31st March, 2023 after
charging salary of Omkar and Shiva was ¥ 5,60,000. The total
amount credited to Omkar’s capital account will be :
(A) %2,45,000 (B) %2,65,000
(C) %3,15,000 (D) 3,00,000 1

7. Assertion (A) : Interest on bearer debentures is paid to a person who
produces the interest coupon attached to such debentures.
Reason (R) : Bearer debentures are transferred by way of delivery and
the company does not keep any record of these debenture holders.
Choose the correct option from the following :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.
(D) Assertion (A) is incorrect, but Reason (R) is correct. 1
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8. (a) 3 fafeg A% 24,00,000 ht afearafcri 61 33 oA | 56 Yo 1 PTaH 384
% 100 S % 9% RUTTAT ol 4% §g T AT hieh foha | forskar o fifia fopn

T SROTIAT <hl G oft
(A) 24,000 (B) 25,000
(C) 30,000 (D) 28,000

Jrean
(b) 1 W%, 2023 I A feIfieg 7 ¥ 100 TS <, 10,000, 10% FITAT Sl 10%
fiftrr o fifid fema foment siiem 10% Sftrm o feren STem | ko= 6 fima

X g1t <kl iy B
(A) % 2,00,000 (B) % 1,30,000
(C) % 1,00,000 (D) % 80,000

9. (a) o, dar o oy v w S arEier off | 31 1, 2023 w1 0] FaTEa & T | 0]
%I ¢ MM 2,17,000 T EEATAT 38h 0T GTd H L eI T | W0 3 39 AT W
iRl SAffEm, 1932 % TEg™i & IR &1 o W TgAfd & | 98 @ i ™

0] 1 ST ¢F R, 98 8
(A) 9% dien (B) 6% e
(C) 12% a1 (D) 10% d¥eh

Jrean

(b) &, A T ST T T H SeR-SUe o WEIER & | T <Al Harfghi o geErd
o aur o % 9ot 99 I € 1,56,000 9€T ¥ 1,08,000 & | ®H i 3 Gt
% 2,80,000 fagifd &t 73 | T fol forem o f6 ISt 9w wrieri & oy fawsa
I HEntt | S T SR d i & few e o |
(A) % 40,000 (B) % 12,000
(C) % 20,000 (D) % 32,000

freferRaa shreafen feurfa i ufeu 3Tk we7 T 10 TE 11 & W T :

rfefer qem Ty U wH § TSR & 9T 2:1 < 3TUTd H o1 -gTiH 61 faveH s
& | 1 3T, 2022 1 3Fh! Toft sHAT: T 5,00,000 4T  4,00,000 2t | 31 91, 2023
%I G BT TN 1, hig HI THREISH it & 99 %H 9 3 81,000 T G AT fid fopam |
TEH! Hor@ o AR Ul WS 10% F1ies o & fezm e |

10. Al g SRy 1 ot =t fmferfiaa 5 & fepm argama & ez smam 2
(A) 54 B) 2:1
© 11 D) 8:1
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8. (a) Arnav Ltd. purchased assets worth ¥ 24,00,000. It issued 9%
debentures of ¥ 100 each at a discount of 4% for payment of the
purchase consideration. The number of debentures issued to vendor

were :
(A) 24,000 (B) 25,000
(C) 30,000 (D) 28,000 1

OR
(b) On 1st May, 2023, Amrit Ltd. issued 10,000, 10% debentures of ¥ 100
each at a premium of 10% redeemable at a premium of 10%. Loss on
issue of debentures will be :
(A) %2,00,000 (B) %1,30,000
(C) %1,00,000 (D) % 80,000 1

9. (a) Riya, Rita and Renu were partners in a firm. On 31st March, 2023
Renu retired. The amount payable to Renu T 2,17,000 was
transferred to her loan account. Renu agreed to receive interest on
this amount as per the provisions of Partnership Act, 1932. The rate
at which interest would be paid to Renu is :

(A 9% p.a. (B) 6% p.a.
(C) 12% p.a. (D) 10% p.a. 1
OR

(b) Ravi, Vani and Tonmi were equal partners in a firm. After the
retirement of Vani, the capital balances of Ravi and Toni were
% 1,56,000 and % 1,08,000 respectively. The new capital of the firm
was determined at ¥ 2,80,000. It was decided that the capital will be
in proportion of the profit sharing ratio of the remaining partners.

Toni will bring for deficiency of his new capital.
(A) % 40,000 B) % 12,000
(C) % 20,000 (D) % 32,000 1

Read the following hypothetical situation and answer questions 10 and 11 :

Aditi and Saurabh were partners in a firm sharing profits and losses
in the ratio of 2:1. On 1st April, 2022 their capitals were T 5,00,000 and
% 4,00,000 respectively. Before any appropriation, the firm earned a Net
profit of ¥ 81,000 for the year ended 31st March, 2023. According to the
partnership deed, interest on capital was to be provided @ 10% p.a.

10. Interest on capital will be provided to Aditi and Saurabh in which of the
following ratio ?
(A) 54 B) 2:1
) 11 (D) 8:1 1
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11.

12.

13.

14.

15.

Ffefa <t 45t W= g
(A) % 50,000 (B) T 45,000
(C) % 40,500 (D) T 54,000

ferouy e sy vk i % TTeeR & | Hiy T fommed % 31 & s ffeera ufdr s ammewr
HT 2 | I W RN 15% a1fies g & gia ferarm Siar 2 | o & 37=q o Hig] &
JTET WSS 9,000 T | HIP] <h TTE0T I TS TG Tehell 77 o7

(A) 67ERH (B) 7% HUER T

(C) 4% 7dR 3 (D) 47ERH

Teh AR Y o foered W % 34,000 % ¢TGR9 | ¥ 1,000 % ¢HER & T qT I
IR & 60% h! I 3T TS | SHERT T T W HH F @Id ! AW fohar Smam qen
[ETEIRUNIR

(A) ageh @@ % 33,000 9 (B) <MY-gIH @rar T 1,000 9

(C) Ushe @@TZ 19,800 ° (D) THER @M% 14,200 ¥

(a) T T O D A T i@ AT g1 = @rd § 78 fhan st gehar g ?
(A) T R=S

(B) 3T W
(C) WTIERI <! YTa foam o feparn
(D) HTIER I e
37T
(b) T TTSCR o T & THA HH 1 fRfe foawor 2 80,000 1 w=m arfoyfd d==
oot @ o | U &fagfd 1 2 1,00,000 % €A BT SFEH HRET T |
% 20,000 hT HH1 =T
(A)  YHeTeR @Td B T e Se |
(B) YHcHTeR @Td | ST feham STaT |
(C) @T3ieri % o @t ¥ = fea s |
(D) @T3ieRi % ol @t # s fea S |

ST AT, 2013  YEEHT o TR Fiafd Sifrm o1 3w = 1§ § fepaes e
T Toha I T :

(A) 30T/ BT T B % frg

(B) 3ATFIh e SHE 3130 /314l o e o fete

(C) FROTYAT o TTHA T &1 1 3TUTeTRad i o foe

(D) ARy =531 o1 Faferiiad s & fou
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11. Interest on Aditi’s capital will be :
(A) 50,000 (B) % 45,000
(C) % 40,500 (D) % 54,000 1

12. Vishnu and Mishu are partners in a firm. Mishu draws a fixed amount at
the end of every quarter. Interest on drawings is charged @ 15% p.a. At
the end of the year interest on Mishu's drawings amounted to ¥ 9,000.
Interest on drawings was charged on drawings of Mishu for :
(A) 6 months (B) 7 % months
(C) 4% months (D) 4 months 1

13. On the dissolution of a partnership firm there were debtors of ¥ 34,000.
Debtors of ¥ 1,000 became bad and 60% was realized from the remaining
debtors. Which account will be debited and by how much amount on the
realisation from debtors ?

(A) Realisation A/c by ¥ 33,000 (B) Profit & Loss A/c by ¥ 1,000
(C) Cash A/c by % 19,800 (D) Debtors A/c by T 14,200 1

14. (a) Which one of the following items is not dealt through Profit and Loss
Appropriation Account ?

(A) Interest on Capital (B) Interest on Drawings
(C) Rent paid to partners (D) Partner’s salary 1
OR

(b) At the time of admission of a partner, the Balance Sheet of the firm
showed a workmen compensation reserve of ¥ 80,000. The claim for
workmen compensation was estimated at ¥ 1,00,000. The shortfall of
$ 20,000 will be :

(A) debited to Revaluation Account

(B) credited to Revaluation Account

(C) debited to Partners’ Capital Accounts

(D) credited to Partners’ Capital Accounts 1

15. As per the provisions of Companies Act, 2013 Securities Premium cannot
be utilized for :

(A) buy back of shares

(B) 1issue of partly paid bonus shares

(C) writing off discount on issue of debentures

(D) writing off preliminary expenses 1
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16. ¥ 1,50,000 i 35 TREUTT 3 s FTahel o fTq At ferskat =l  1,25,000 < 01 &
S /St o1 foTee fema SiTan & @@ € 25,000 o 919 SRl ST foharm ST

(A) -7 forawor |

(B) =fd @ T

(C) T Tww @ |

(D) Y- qHRESH @ 3§

17.

18.

19.

{gt, Hi au 9 U A1eiei B i Areier off 9T 2:2:1 % U H AN-gIH
forror whtet off | 1 37199, 2023 T 38 SUe-sUsR SUTd H oy T e & forg
Tgwfa < | 39 ffer =1 wH 31 g&dent § T 50,000 1 AT T= o7 | I8 g g3 1o

(1)
(i1)

(b)

(a)

wH 1 TR 1 Geotiehd 2 3,00,000 feram STer |
Gt oh YT Q2T CIATAl o AU 9 ST <t T T 30,000 ot |
W Sl JEdehl T SUUF -1 oh ol 3TTEeeh TsiTa= Ffafdar Hifaw |

Tgw fafiee 4 91 faafiee @ T 4,50,000 =1 w5= qen aefiad =1 g fomam | S
feafireg &1 WM T 50,000 T Th = <ot AT AT & fot T 100 T & 6%
ST ohl 20% o W T hieh feoham T |

ST -l o for wawr feafiree oY qecenl & 3tTervares U wferfdat Hife |

a1

Tforert ffiRg I T 100 TS & 500 390 /I=A T &0 (Forfeit) T 20 Ifd
3TR1/3RR T TG AT q>T X 25 Tl 37/ 1 gEA AT HA{H AT
YA T8 i T fofm | 90 | 250 379 /3 1 T 50 Wl 3791 /37 9 qui
yea ga-fifa s feam | 3 /3R o &1 (Forfeit) a9 gH:fwma <6t
s gfafsat Hifs |

YN T FY HIEICR & TUT ATH TUSR-SRISK Sied @ | IH o1d H SUa 91
T &1 1 AT W3IER S 1 R for | 38 3ewd % Y wH hl @i
HeTeh STTUCTHI o TR 91 oh $h¥ oh STTET T et ST o |
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16. If vendors are issued fully paid shares of ¥ 1,25,000 in purchase
consideration of net assets of ¥ 1,50,000, the balance of ¥ 25,000 will be
credited to :

(A) Statement of Profit and Loss

(B) Goodwill Account
(C) Capital Reserve Account
(D) Profit and Loss Adjustment Account 1

17. Reeha, Meenu and Sara were partners in a partnership firm sharing
profits and losses in the ratio of 2:2:1. With effect from 1st April, 2023,
they agreed to share profits and losses equally. On that date, there was a
General Reserve of % 50,000 in the books of the firm. It was agreed that :

(1) Goodwill of the firm be valued at % 3,00,000.

(1) Profit on revaluation of assets and re-assessment of liabilities
amounted to ¥ 30,000.

Pass necessary journal entries for the above transactions in the
books of the firm. 3

18. (a) Mahesh Ltd. purchased Plant and Machinery from Ish Ltd. for
T 4,50,000. T 50,000 was paid by cheque to Ish Ltd. and the balance
by issuing 6% debentures of ¥ 100 each at a discount of 20%.

Pass the necessary Journal Entries for the above transactions in the
books of Mahesh Ltd. 3

OR
(b) Manika Ltd. forfeited 500 shares of ¥ 100 each for non-payment of
first call of ¥ 20 per share and second and final call of ¥ 25 per share.

250 of these shares were reissued at T 50 per share fully paid up.
Pass the Journal Entries for forfeiture and reissue of shares. 3

19. (a) Aayush and Krish are partners sharing profits and losses equally.
They decided to admit Vansh for an equal share in the profits. For
this purpose, the goodwill of the firm was to be valued at four years
purchase of super profits.
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20.

21.

31.3.2023 I 997  YoIu1 | & W o1 fefef foramor fom yhm o

31.3.2023 W YT 741 F¥ F1 Feufar foraweon
QFaTd Ty gt Ry
(9] ®)
o HeET 75,000
IS 90,000 Bt 15,000
k2 50,000 1,40,000 | &ih 30,000
AT Fe 20,000 | g 20,000
i 25,000 | g 50,000
R 5,000
1,90,000 1,90,000

Tfthet hl T T 12% dTNeh 2 | % ol Usel IR &t bl 3718d oy T 30,000
T | ATl T 937 S WA Shi TUET ST |
JAgan
(b) %I, TTEVT, ITEUT AT SV Ueh WH b |TSIGR A AT 5:3:2:2 o AT H &Y Sied o |
31 W, 2023 I 3R HATHIT &l T | TEOT, TR AT ST o HiTST § AR
S-SR S1e o1 TR T | 3701 o HaTi-e 8 T HH 3hi SATH o1 Fodieh
Z9,00,000 feram T |

319 ST I AT H S §U, BTN @1 @it o1 T o oi@ieh b foIq 37607
1 T T 3TeREeh UsHmeE1 Sefd i |

I 3R 7T Tk WH < TIEER & AT 3:2 < AT H AT 1 9= Hid o |
3I7eht Tl ISt shEeT: 3 4,00,000 T % 2,00,000 off | T o @Id TR A o q9EIq
%WWW%W%W@@WW%WG%WQQ@?W
=T fean ST o ; 578 AieRi 6 USh @il § ST el foRan R |

AT THTASH s Fif8 SHIT | 379 1l i STt 9 gy |

Tfa feafie T 100 & & 75,000 371 /3R[T H fawad 3 75,00,000 1 3Tfeehd ISt
% |19 Usfihd ot | PO A 45,000 St /311 3 T 3 foTu STRIEH SR T |

T 7 S e TehR | o

FEE W - ¥ 30 Ui 397/30, & T — T 30 T 3797 /3IRR, TGH AT T — T 25
i 377/ AT AT 31| I W |

42,000 31971 /31 o6 fIU. TEie W g am |t STTacen] i 3Teed L fem T |
I, f@ 3,300 3791/ 1 A& fhaT T A1, ST AT T P HH H
G &I | 3Heh 37 /I b1 80T (Forfeit) T foram mam |

st arfafem, 2013 <t SR 11T, 9T 1 < 3aR Swra o fefa foamer § ot /9rr
St S ShifST | @t < e ot §E1ET |
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The balance sheet of the firm on 31.3.2023 before admission of Vansh
was as follows :

Balance Sheet of Aayush and Krish as on 31.3.2023

Liabilities Amount Assets Amount
®) ®)

Capitals : Machinery 75,000

Aayush 90,000 Furniture 15,000

Krish 50,000 1,40,000 | Stock 30,000

General Reserve 20,000 | Debtors 20,000

Loan 25,000 | Cash 50,000
Creditors 5,000

1,90,000 1,90,000

The normal rate of return is 12% per annum. Average profit of the
firm for the last four years was ¥ 30,000. Calculate Vansh’s share of
Goodwill. 3
OR

(b) Varun, Tarun, Arun and Barun were partners in a firm sharing
profits in the ratio of 5:3:2:2. Arun retired on 31st March, 2023.
Varun, Tarun and Barun decided to share future profits equally. On
Arun’s retirement, Goodwill of the firm was valued at ¥ 9,00,000.
Showing your workings clearly, pass the necessary Journal entry for
treatment of Goodwill on Arun’s retirement without opening goodwill
account. 3

20. Atul and Gita were partners in a firm sharing profits and losses in the ratio
of 3:2. Their fixed capitals were ¥ 4,00,000 and ¥ 2,00,000 respectively. After
the accounts for the year were prepared, it was noticed that interest on
capital @ 6% p.a., as provided in the partnership deed, was not credited to
the capital accounts of partners before distribution of profits.
Pass the necessary adjusting Journal entry. Show your workings clearly. 3

21. Ronit Ltd. was registered with an authorised capital of T 75,00,000
divided into 75,000 equity shares of ¥ 100 each. The company invited
applications for issuing 45,000 shares.

The amount was payable as follows : T 30 per share on application, ¥ 30 per
share on allotment, ¥ 25 per share on first call and balance on final call.
Applications were received for 42,000 shares and allotment was made to

all the applicants. Charvi, to whom 3,300 shares were allotted, failed to
pay both the calls. Her shares were forfeited. Present the share capital in

the Balance Sheet of the company as per Schedule III, Part I of the
Companies Act, 2013. Also prepare notes to accounts. 4
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22, TM, o aUT Tgd HRIGR & qAT 2:3:1 & FIITd § o9 §fcd o | 31 TTE, 2023 I 36T

Teurfa foramor o yem o
31.3.2023 i W, T a2 Vg 1 fafa faawon
A T ®) it T ®)
TSR 3,62,000 | TTg 14,000
HH §99 18,000 | S 2,96,000
IS Wi 80,000
TH 1,00,000 S 3,00,000
o 2,00,000 2T : TfeTe ol
s 3.00,000 6,00,000 | o grarem= 10,000 2,90,000
IEEX) 50,000
i 2,50,000
9,80,000 9,80,000

30 THaFsR, 2023 %1 & 61 Jog 81 T3 | Ueh ATEIGR hl Jcg T ATHGH Hoig H 0 =1

23.

67/4/1/21/QSS4R

BIERICRZ 1IN

()

a1 ToHT s i 9T o 3fEd 1Y o €1 9NT o ShY oh TR 9L <kl SIRAT |
foset € a9t o &9 9 : 2020-21 T 45,000; 2021-22 T 90,000 AT 2022-23
% 1,35,000.

(i) g I Teifer Tk Yk HTSICR < ATH hl TTUMT Uscl I a1 o 3TEd AT % IR T
i SRt |
TEH o ITAUTTRTIET ol T i oh foTT IHeRT Yit WTAT IR I |

(a)

(b)

At fAfieg 3 T 10 I o 2,00,000 THAT 30/ i 20% it w Frifya
i o foTu avree smmfia fobe | wfa ater/3er aftt 1 e fe yeeR @ < o
eI W — 3 5, 3MEA W — T 4 (i afeq) qom A9 Jom T Af<w Ireq | |
AT 3 3,20,000 390/ forw e o, ’EE @ 20,000 3T /3=0 S
TG 1 T& T Team T qem 99 3ATegeh] Sl SIS YR T 3790 /I T
TS L feam =T | 15,000 3730/ shl Teh ATaiceh shioldT 3T a7 Jr=-T T
ST YA L H 3186 TEl | 38eh 3901 /IR 1 801 (Forfeit) T foram i |
ST <hl JEehi H ST TiH—¢rT oh ToTT STTaeeh UsHTH= SfafSat shifer |

HAYaT
=ig fafiies 9 T 10 Y& & 1,00,000 THAT 30/ T T 2 fd 3=/I™/ &
fiftrmy w fifira e & foTw amreea smifa foee | wfa aver/wer wfSt &1 ymam e
YR | ¢F o7 : 3Teed W — T 4 (fiftrem \fgq), 3naed w — T 5 a1 99 yom ug
Ff=m J=AT 1 1,80,000 371 /3R % T 31eed s g€, {59 @ 30,000
I /SR o TG bl & hL feam T qem 99 SA1dehi Sl STUTde STTEUR W
JAT /AT BT JATeA T &1 T | 7EH S 5,000 30 /IR 1 ares off gom ug
=T ATEAT T PIAH HH T 31T T aUT 3Heh 390 /IR 1 801 (Forfeit)
v T |
U AT o ToTT ot <hl J&ehl | 3TTereeh UsHH=T Tfafdat SHifs |
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22. Ram, Ravi and Rohan were partners sharing profits in the ratio of 2:3:1.
On 31st March, 2023, their Balance Sheet was as follows :

23.
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Balance Sheet of Ram, Ravi and Rohan as on 31.3.2023

Liabilities Amount ) Assets Amount )
Creditors 3,62,000 | Cash 14,000
General Reserve 18,000 | Bank 2,96,000
Capitals : Stock 80,000

Ram 1,00,000 Debtors 3,00,000
Ravi 2,00,000 Less : provision for
Rohan 3,00,000 6,00,000 | doubtful debts 10,000 2,90,000
Investments 50,000
Land 2,50,000
9,80,000 9,80,000

Rohan died on 30th September, 2023. On the death of a partner the
partnership deed provided for the following :

()

(i1)

Goodwill was to be valued at two years purchase of average profit of

last three years. The profits for the last three years were : 2020-21

T 45,000, 2021-22 T 90,000 and 2022-23 T 1,35,000.
Deceased partner’s share of profit till the date of his death will be
calculated on the basis of average profit of last three years.

Prepare Rohan’s Capital Account to be rendered to his executors.

(a)

(b)

Lazal Ltd. invited applications for issuing 2,00,000 equity shares of ¥ 10
each, at 20% premium. Amount per share was payable as follows : ¥ 5 on
application ; ¥ 4 (including premium) on allotment ; and balance on first
and final call. Public applied for 3,20,000 shares, out of which applications
for 20,000 shares were rejected and shares were allotted on pro-rata basis
to the remaining applications. Kavita, an applicant of 15,000 shares failed
to pay allotment and call money. Her shares were forfeited.
Pass necessary Journal entries for the above transactions in the
books of the company.

OR
Chand Ltd. invited applications for issuing 1,00,000 equity shares of
% 10 each at a premium of ¥ 2 per share. The amount per share was
payable as follows : ¥ 4 (including premium) on application, ¥ 5 on
allotment and balance on first and final call. Applications were
received for 1,80,000 shares of which applications for 30,000 shares
were rejected and remaining applicants were allotted shares on pro-rata
basis. Mansi holding 5,000 shares failed to pay first and final call
money and her shares were forfeited.
Pass necessary Journal entries for the above transactions in the
books of the company.

6



24. (a)

(b)

JTAHIT TUT WIS Teh ®H & HISER & AT 7:3 % UG & oY died 8 | 31 7T,
2023 ol I9ehT Terfe feramor fg wehm o
31 AT, 2023 ! 31k qeT wraw 1 ey faawor

e T it i
® ®
TSR 60,000 | 97T 36,000
376 A 9,000 | GER 54,000
HH 999 15,000 | =127 : Hfewe swon
* iUy _6,000] 48,000
TS Wi 60,000
AR 1,20,000 HeeR 1,20,000
CIEK 1,80.000| 3,00,000 | A= 1,20,000
3,84,000 3,84,000

1 310, 2023 i I8 9 § 1/4 W ok [oTT TT8d bl T Il T Teh 73T HTZER
AT :
(i) =mead A USt o ®9 H T 90,000 T TN T o6 37U 9T % folg
% 30,000 &MU |
(ii) 3TGT TIGH hT YT T TeT ST |
(iii) e i 10% A ThIT T |
(iv) %ﬁOO%@W,W@@TWﬁﬁWW%W@@TW
|
W Shl JETehl T SUUF T -1 oh T 3TTEeeh TsiTa= Ffafdar Hifaw |
GO
T, shifex qen fopaTM v % & |rRigR A quT 7:2:1 % IUTd § o §ied o |
31 |, 2023 i 3 Tefe feremor e Srepr ot

31 WrE, 2023 i AT, wifer aun fperm w1 fRufa oo

S T ot T
®?) ®
it o 12,00,000
B 9,60,000 o 9,00,000
HIfex  8,40,000 HATeR 3,60,000
fp3am  9.00.000| 27,00,000 | =i 6,60,000
= 999 3,00,000 | eer 6,00,000
HIR &fafd g 5,40,000 | =T : e ol
TER 3,60,000 | & foTu yrau™ 30.000| 5,70,000
EER- U 2,10,000
39,00,000 39,00,000
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24. (a) Anikesh and Bhavesh are partners in a firm sharing profits in the
ratio of 7:3. Their Balance Sheet as on 31st March, 2023 was as
follows :

Balance Sheet of Anikesh and Bhavesh as on 31st March, 2023
e e1ses Amount Amount
Liabilities @) Assets @)
Creditors 60,000 | Cash 36,000
Outstanding wages 9,000 | Debtors 54,000
General Reserve 15,000 | Less : Provision for
doubtful debts _ 6,000 48,000
Capitals : Stock 60,000
Anikesh 1,20,000 Furniture 1,20,000
Bhavesh 1,80,000 | 3,00,000 | Machinery 1,20,000
3,84,000 3,84,000

On 1st April, 2023 Chahat was admitted for 1/4th share in the profits
on the following terms :

(1)

share of Goodwill premium.

(i1)
(iii)

Outstanding wages will be paid.
Stock will be reduced by 10%.

Chahat will bring ¥ 90,000 as her capital and ¥ 30,000 as her

(1v) A creditor of ¥ 6,300, not recorded in the books, was to be taken

into account.

Pass necessary Journal Entries for the above transactions in the

books of the firm.

(b)

OR

Prina, Qadir and Kian were partners in a firm sharing profits in the

ratio of 7:2:1. On 31st March, 2023 their Balance Sheet was as follows :
Balance Sheet of Prina, Qadir and Kian as on 31st March, 2023

. pe1ses Amount Amount
Liabilities ?) Assets ?)

Capitals : Land 12,00,000
Prina 9,60,000 Building 9,00,000
Qadir 8,40,000 Furniture 3,60,000
Kian 9.00,000| 27,00,000 | Stock 6,60,000

General Reserve 3,00,000 | Debtors 6,00,000

Workmen’s Less : Provision for
compensation Reserve | 540,000 | doubtful debts _ 30,000| 5,70,000
Creditors 3,60,000 | Cash at Bank 2,10,000
39,00,000 39,00,000
67/4/1/21/1QSS4R Page 19 of 32

P.T.O.




3w fafer st frferfad st w swifet Safres &

(i) W <l TATH T Godieh T 12,00,000 fora 71 |

(i)  9fiT T 30% T TG TR TAT Wer W T 3,54,000 H GeoIgTd S TR |
(iii) TR T 6% T I fohaT ST |

(iv) MR &fagfd et 2 1,40,000 feifa 6 73 |

(v)  ohTICU ol < TR < 36k U1 WA H SEATad ohT eI TR |

(vi) T ®H & FA G T 16,00,000 Feifed T8 FERT THRISH 36 TC
AT - TavTS STATd | <] @Td @ieteht fehdl ST |

e T e e % o W AT IR |

25. fafv= ufemfadi (U aur s & fafem) aum s CIarsti i agel @ ®
TG i o IR ST a2t a1 <At |t ® o foraed w fafoifad eR-aai &
foTu. Jmrareereh s wfafsat Hifvw

(i) THa o fofu weh 37ea foret o fvges fotw 3 20,000 =1 Yrram ferem = |

(i) WH % 9™ T 80,000 T Tieh AT | TAT1 3 50% Fieh, 20% g W o foram; wafh
Y Eieh I T 52,000 H &9 feam mm |

(iii) WH e I T 10 T o 100 33%1/IRR & & Freiert 9 T 20 Wi 3797/ §191
ol T 310 AT -TawTSie 31guTa 3:2 8§ o foram |

(iv) 4,000 < g ST T PFTaE I gRT foarm 7 |

(v) I8 HBH BT 40,000 1 07 T a et farfereq spram o6 feam mm |

(vi) 1 39 9fd % 2 10,000 o RT BT A 10% o2 T 3 FoIq Tgwd 81 778 |

26. frefaRaa uftfeufat @ sriar fafieg i qeaehi 3 woreE & e qen ot & fefm
T /T B STARIRIT i o TAU STTaweeh UsHT=n Sfafdat Hif
1) ¥ 1,000 I & 200, 9% TS BT A 10% g W T, Sept sem
e R fohar stmam | wfeufe shiftem @ w199 2 15,000 2 |
(i) T 1,000 Y& % 300, 11% T 1 T 5% w8 WX T, fomept s
10% Sifererm oz fopam stmarm | wferfer ifirem @ 199 2 35,000 2 |
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On the above date Qadir retired on the following terms :

(1) Goodwill of the firm was valued at % 12,00,000.

(11) Land was to be appreciated by 30% and building was to be
depreciated by ¥ 3,54,000.

(111) A provision of 6% is to be maintained on debtors.

(iv) Liability for workmen’s compensation was determined at
% 1,40,000.

(v) Amount payable to Qadir was transferred to his loan account.

(vi) Total capital of the new firm was fixed at ¥ 16,00,000 which will
be adjusted according to their new profit ratio by opening
current accounts.

Prepare Revaluation Account and Partners’ Capital Accounts. 6

25. Pass the necessary journal entries for the following transactions on the
dissolution of the partnership firm of Tina and Rina after the various
assets (other than cash and bank) and external liabilities have been
transferred to realisation account :

(1) There was an outstanding bill for repairs for which ¥ 20,000 were
paid.

(1) The firm had stock of ¥ 80,000. Tina took over 50% of the stock at a
discount of 20% while the remaining stock was sold off for ¥ 52,000.

(111) The firm had 100 shares of ¥ 10 each which were taken over by the
partners at market value of ¥ 20 per share in their profit sharing
ratio of 3:2.

(1v) Realisation expenses of ¥ 4,000 were paid by Rina.

(v) Tina had given a loan of ¥ 40,000 to the firm which was duly paid.

(vi) Rina agreed to pay off her husband’s loan of ¥ 10,000 at a discount of
10%. 6

26. Pass necessary journal entries relating to issue of debentures and to write

off discount/loss on issue of debentures in the books of Ajanta Ltd. in the

following cases :

(1) 200, 9% debentures of ¥ 1,000 each are issued at 10% discount and
redeemable at par. Balance in Securities Premium account 1is
% 15,000.

(11) 300, 11% debentures of ¥ 1,000 each are issued at 5% discount and
redeemable at a premium of 10%. Balance in Securities Premium
account 1s ¥ 35,000. 6
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i -9
fapea -1
(ferfrer feraroty <6t fergetwmn)

27. (a) ‘Toxfia foewon & foetoor 61 o8 dehieh ST Ush I hl ATHYEAT, JEHETHAT qei
HRITHAT ST AThet i T TERIAT Ll &, A ST & -

(A) ke vaTE foaao (B) qeTcHeh fereron
(C) I 3R fereror (D) AuTa forgeryor
YT
(b) __ 3T SiIE STIT b A9 ot ST 11 B |
(A) =TS 3THTd (B) et I
(C) GheT ATH U (D) e Wy ST

28. HmT fafide &1 ®& W 1.5:1 7 | Ffafea § 9 frd oH-¢7 o1 afomm 59
IATd | st geft 2
(A) T 10,000 AR sl F&37 1 T 12,000 H ST TR |
(B) SR YT & T 41,000 Tehg TehiId fohal T |
(C) ¥ 38,000 3 -T7TE HTeT T 3 Tohat TRIT |
(D) FERI I ¥ 11,000 T Ta feram T |

29. (a) U1 : T orameheTdi o1 Tray Ush 3em <l drelehtiors MR G T 2 |
YA 11 : foriTa ToRamehetdl & 3c0 B dTel Uhe JETRI i 9o &9 § Tohe Al
HEcaqul & Rifeh I8 Ufdffere hear g fob form =fmn aop wireft o qen e
JATE o1 3cd i h ToIT HETEHT I @l fohdT TR R |

FrafaRea @ 92t faeed o1 =@ HifSw
(A) A TR [ SH 81 8 |
(B) ¥ I du1 Y [ €1 TTeid & |
(C) FA[Ted e IMHIH I T2 |
(D) %Y1 TE 8 N HYF [[ T # |
ol
(b) ‘AT AT AT T YIAH' - T Uehg YaTE Teraror 9 =11 JoIrel g 2
(A) TN fTRamhal | Sfadts |
(B) Trawr fepamepetl © sfgaig |
(C) Terfiam fsramshemi 4 sfgals |
(D) {3 YaITE T hig TTE TE |
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PART -B
OPTION -1
(Analysis of Financial Statements)

27. (a) The tool of ‘Analysis of Financial Statements’ which helps to assess
the profitability, solvency and efficiency of an enterprise is known as :

(A) Cash flow statement (B) Comparative statement
(C) Common size statement (D) Ratio analysis 1
OR
(b) __ 1s also known as the Acid Test Ratio.
(A) Current ratio (B) Quick ratio
(C) Gross profit ratio (D) Return on investment ratio 1

28. Quick ratio of Megamart Ltd. is 1.5:1. Which of the following transactions
will result in decrease in this ratio ?
(A) Sale of goods costing ¥ 10,000 for ¥ 12,000.
(B) Cash collected from trade receivables ¥ 41,000.
(C) Purchase of goods for cash ¥ 38,000.
(D) Creditors were paid T 11,000. 1

29. (a) Statement I : Financing activities relate to long term funds or
capital of an enterprise.

Statement II : Separate disclosure of cash flows arising from
financing activities is important because they represent the
extent to which expenditures have been made for resources
intended to generate future income and cash flows.

Choose the correct option from the following :

(A) Both Statement I and Statement II are correct.

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is incorrect and Statement II is correct.

(D) Statement I is correct and Statement II 1s incorrect. 1

OR
(b) What will be the effect of transaction ‘Payment of employee benefit
expenses’ on the cash flow statement ?

(A) Outflow from operating activities.

(B) Outflow from investing activities.

(C) Outflow from financing activities.

(D) No effect on cash flow. 1
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30. T ?) ICELNEY)
IECH 2,00,000 1,80,000
ECI] 3,00,000 —
Sudierd g1 & ‘e fRenetrdl | Tehg waTg’ 81
(A) % 3,20,000 3F=<dE (B) % 3,20,000 Sfgatg
(C) % 20,000 sfgate (D) Z 20,000 F<EiE
31. ot arfafrm, 2013 1 STgEE 111, W 16 STHER, T shea o feufa foawr § fm
Hei o1 T et vd 3u-sfident (Ife 1 7) % St=wta affera shife
() sSubdsm G  defia afm (iii) dsfima SRk T W
32. Ueh HAHT I FTe] ST 3:1 AT A AT 1.2 : 17 | afe srfefer it 7 1,80,000
B a1 ot =Te] uherfRrRI dur wled i o Hifv |
33. (a) T g1 & v fofide 1 g R feufa foawor dam <hifve
31 W, 2023 o v feifires =1 fedfe foramor
ToaTor died. | 31.3.2023 31.3.2022
®) ®)
I. OUqIug e ;
1. ITYRe /SRR et
(a) HHaT 37/ YSh 30,00,000 15,00,000
(b) TIF TG IR 10,00,000 5,00,000
2. I9d <Fand 20,00,000 20,00,000
3. 9o A 20,00,000 10,00,000
A 80,00,000 50,00,000
I. giEwRET:
1. I« gt 40,00,000 30,00,000
2. e aiEEEt
(2) T (AT 40,00,000 20,00,000
FA 80,00,000 50,00,000
GO
(b) T gt @ a8 ferfies o1 qerTees ey -1t forawor dam hifs
foator 31.3.2023 | 31.3.2022
T 3TH (3) 40,00,000 | 20,00,000
ST Wieh 1 367 (3) 24,00,000 | 12,00,000
T2ieh T IR (ST Tieh sh T %) 25% 20%
I = () 2,00,000 | 1,60,000
TR 40% 40%
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30. Purchased R) Sold R)
Investments 2,00,000 1,80,000
Goodwill 3,00,000 —

From the above information, ‘Cash flows from investing activities’ will be :

(A) Inflow X 3,20,000
(C) Outflow % 20,000

(B) Outflow % 3,20,000
(D) Inflow % 20,000

31. Classify the following items under Major Heads and Sub-Heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the

Companies Act, 2013 :
(1) Accrued Income
(1) Capital work-in-progress

(11) Capital Advances

32. A business has a current ratio of 3:1 and quick ratio of 1.2 : 1. If working

capital 1s ¥ 1,80,000, calculate total current assets and inventory.

33. (a) Prepare a Common Size Balance Sheet of X Ltd. from the following

information :
Balance Sheet of X Ltd. as on 31st March, 2023
Particulars Note | 31.3.2023 31.3.2022
No. ®) ®)
I. Equity and Liabilities :
1. Shareholders’ funds
(a) Equity Share Capital 30,00,000 15,00,000
(b) Reserves and Surplus 10,00,000 5,00,000
2. Non-current liabilities 20,00,000 20,00,000
3. Current Liabilities 20,00,000 10,00,000
Total 80,00,000 50,00,000
I1. Assets :
1. Non-current assets 40,00,000 30,00,000
2. Current assets
(a) Inventories 40,00,000 20,00,000
Total 80,00,000 50,00,000
OR
(b) From the following information prepare a Comparative Statement of
Profit and Loss of Y Litd :
Particulars 31.3.2023 31.3.2022
Revenue from operations (%) 40,00,000 20,00,000
Purchase of stock in trade (%) 24,00,000 12,00,000
Change in inventories (% of purchase 25% 20%
of stock in trade)
Other expenses (%) 2,00,000 1,60,000
Tax rate 40% 40%
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34. 31.3.2023 i 9Rq 79 ffirde vt fefa feremor f yemm o -

31.3.2023 ! WRa 11g fafire w1 fafa faemor
ICE M. | 31.3.2023 | 31.3.2022
] ® ®
I  GHdr YT eFa :
1. Y /TR et
(a) 31/ 14,00,000 | 10,00,000
(b) &= T 1 5,00,000 | 4,00,000
2. 3 ¢Idd
EREASIEIERI 5,00,000 | 1,40,000
3. =Te] ¢Fand
(a) AU <F 1,00,000 60,000
(b) Y- JFEH 2 80,000 60,000
oA 25,80,000 | 16,60,000
I1  giEwEt
1. 9 qREmafEt
(a) Wqﬁ{:lmﬁ?ﬁ
(HfT, e T IR0 AT
)
Q) ﬁtrﬁamﬁa? 3 16,00,000 | 9,00,000
wqaww)
(ii) I aiEdfRT 4 1,40,000 | 2,00,000
2. =Te] uiEHtEt
(a) ik (HTeTg=) 2,50,000 | 2,00,000
(b) =TT YT 5,00,000 | 3,00,000
(c) UhS TJ {ehg e 90,000 60,000
ksl 25,80,000 | 16,60,000
WAl o 1eH :
R H. Tereor 31.3.2023 | 31.3.2022
, , ® ®
1. | 999 g it
A -2T foraor =61 3w 5,00,000 | 4,00,000
5,00,000 | 4,00,000
2. | Tg-Hafy yay :
EZICLIC] 80,000 60,000
80,000 60,000
3. rgfqﬁemﬁﬁ
(Gufa, S a1 39hTUT)
BMiER 18,50,000 | 10,00,000
T : ThA Goag™ (2,50,000) | (1,00,000)
16,00,000 | 9,00,000
4. %ﬂﬁ&lﬂﬁ?ﬁ
1,40,000 | 2,00,000
1,40,000 | 2,00,000
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34. Following is the Balance Sheet of Bharat Gas Ltd. as at 31.3.2023 :
Balance Sheet of Bharat Gas Ltd. as at 31.3.2023

Particulars Note | 31.3.2023 | 31.3.2022
No. ®) ®)
I Equity and Liabilities :
1. Shareholders’ funds
(a) Share capital 14,00,000 | 10,00,000
(b) Reserves and Surplus 5,00,000 | 4,00,000
2. Non-current Liabilities
Long term borrowings 5,00,000 | 1,40,000
3. Current liabilities
(a) Trade payables 1,00,000 60,000
(b) Short term provisions 80,000 60,000
Total 25,80,000 | 16,60,000
II Assets:
1. Non-current Assets
(a) Fixed Assets
(Property, plant and equipment
and intangible assets)
(1) Tangible assets 16,00,000 | 9,00,000
(Property, plant and equipment)
(11) Intangible assets 1,40,000 | 2,00,000
2. Current Assets
(a) Inventories 2,50,000 | 2,00,000
(b) Trade receivables 5,00,000 | 3,00,000
(¢) Cash and cash equivalents 90,000 60,000
Total 25,80,000 | 16,60,000
Notes to Accounts :
Note Particulars 31.3.2023 | 31.3.2022
No. ®) ®)
1. | Reserves and Surplus :
Balance in Statement of Profit and Loss 5,00,000 4,00,000
5,00,000 4,00,000
2. | Short term provisions :
Provision for Taxation 80,000 60,000
80,000 60,000
3. | Tangible Assets :
(Property, plant and equipment)
Machinery 18,50,000 | 10,00,000
Less : Accumulated Depreciation (2,560,000) | (1,00,000)
16,00,000 9,00,000
4. | Intangible Assets :
Goodwill 1,40,000 2,00,000
1,40,000 2,00,000
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27.

28.

29.

30.

31.

32.

Jferfar =T : 99 W R 2 3,00,000 SAFTA i Th A o1, 9 T THEA Jeag™
% 45,000 9T, ¥ 1,35,000 H =1 =T |
Tt TshaTeheTdl 8 Uehe YaTg hl TUMT HIfST |

0 -g
fapea - 11
(Ffrrfer @)

e O 4 I 91 GireaT 1 Mudr T A d|r & g9ifad 8 qe diwas 81 Hue
3G ?
A) g (B) wfrfhe
(C) Sifeh (D) (A) 7 (B) gH
(a) T H TEIRId T T THT WRT S Teh 2T W i SATHEIIhd &, STHT STl @ :

(A) SRR (B) <a1dEd

(C) wile wge (D) g

YT

(b) TS T TA. . 5.0A. 08, (LABELS) 1 32 2 :
(A) Th oo 1yan fafire gt
(B) dfercrait, Tl 31 SofTereh TeT 3 fore w3y femarn St 2 |
(C) TITOTH &9 1 Iu=THa TR ST Eehell 2 |
(D) (A) @ (B) e

e § e I ey | qun ‘fufia ved’ i vge 8 Y It 2 2

(A) $ Toga =1 v Fh (B) £ Torg =1y Hh
(C) # Torga =1 W b (D) ~ Torga =1 = s
(a) TFEd Ffeiad § 8 H § TR S=Te 998l ol 99 Ted ol &
(A) T ST qUT ST (B) T T T 70T AT
(C) HITdieh qUT UM AT (D) EEHT qUT 9T &1
YT
(b) THEA 2007 T TeraT dfFaat Iuctsd Bl & ?
(A) 5663 (B) 65536
(C) 72257 (D) 4332

TS § HH 3 e e’ o T ShE TR STt @ ¢ |wes |

SCTEXUTT <h! HERIAT & “3TIshiiieh i’ YUT ‘Sclich hig ol THZTT |
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Adjustments : During the year a machine costing ¥ 3,00,000 on which
accumulated depreciation was ¥ 45,000 was sold for T 1,35,000.
Calculate ‘Cash flows from Operating Activities’. 6

PART -B
OPTION -11
(Computerised Accounting)

27. Which of the following type of software suffers from the limitation of low
secrecy level and software being prone to data frauds ?
(A) tailored (B) specific
(C) generic (D) (A) and (B) both 1

28. (a) ‘A piece of information shown in a graph which is assigned to the
data series’ is known as :

(A) data point (B) data table
(C) plot point (D) legend 1
OR

(b) ‘LABELS’ in Excel means :
(A) A text or special character
(B) Used for rows, columns or descriptive information

(C) Can be treated mathematically
(D) (A) and (B) both 1

29. How are ‘absolute cell references’ and ‘mixed reference’ identified in Excel ?
(A) using $ sign (B) using £ sign
(C) using # sign (D) using ~ sign 1

30. (a) Excel considers which of the following group of mathematical
operations of equal importance ?
(A) Multiplication and Addition (B) Division and Multiplication

(C) Exponent and Multiplication (D) Subtraction and Division 1
OR
(b) How many rows are available in Excel 2007 ?
(A) 5663 (B) 65536
(C) 72257 (D) 4332 1
31. How to use ‘Mark Common Formula Error’ in Excel ? Explain. 3
32. Explain ‘Sequential Codes’ and ‘Block Codes’ with examples. 3
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33. (a) Soolg IR foh Tk =1 ! aei hi STETTHA] ] TSl & 7 38 HY Faell S
Hehdl & ? IE HI hal JIIdT & foh Teh hicH T hl -1 H ST TEH Bidl
2 2 BT AT |

JAYAT
(b)  SNYHITT TGTeRT TUTTEAT & SATHT T Iooid HINTT |

34.

Feh3fie T T Had g fou MU “Hiegerar’ e fo=ma (VLOOKUP fadew) Ffe qan
3Hoh U b1 T ST |

(i) =dicgpam &ft1, 2 : 38, 2, 0)

(i) = THRIIE (FehaTd (S5, 8 : 38, 2, 0) — 100000)
(iii) = <iefsh3Md (T2, U2 : TS, 2, 0)

(iv) =diegham &2, i3, 24, 5, 0)

(v) =diogam (&2, T2 :38, 0, 0)

(vi) =diegham (&2, 2, 38, 2, 0)/0

67/4/1/21/QSS4R Page 30 of 32




33. (a) State why do you need to change a chart ? How can it be changed ?
Why is it said that changing a column chart to a pie chart is easy ?
Give reasons.

OR

(b) State the advantages of computerized accounting system.

34.

Using the worksheet find out the error and its reason for the given
‘VLOOKUP’ syntax.

(i) =VLOOKUP (B1, B2: ES, 2, 0)

(i) =SQRT (VLOOKUP (B5, BS : ES, 2, 0) — 100000)
(ili) = VLOOKUP (A2, A2 : A8, 2, 0)

(iv) = VLOOKUP (B2, B3, E4, 5, 0)

(v) =VLOOKUP (B2, A2 : ES8, 0, 0)

(vi) = VLOOKUP (B2, B2, ES, 2, 0)/0
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